582-3s¢

3
582

V—
% R

X} 7H
g
" -~"r\- \’.,-._
m = i lmﬂlwaatras:a)\v

"‘“.-’-’
*n

-
— *
[341xhi~

3 -
ST S u [82]22
(35153 s g2

e
[81]EH AT AR N gy \
22]60FH MBY
[33IMBY W4T (4F)] oz o1y 2 e
(3017114 & 24(F 212)

:..‘ '\
¥
. OlC AH C Al
\Pi= o ] 25, MESAlE
2EY
o sae ol StWAIEZ2E X
%
“““““ 2R "
R EE] nelgsaus (eSS
,,,,,, b [CalHiTg . .
== d]etze
‘‘‘‘‘ 103]3E fosTHIS R
A [05IRIsB2fEr o
440558
_ = [o7]Ma
\
\\o8lmI25 22 Nole1sE2(E
A 371 \
PV [231XHMICH Rper 2

[o9]er=as

 (3-7) 53812
, = = : c6a0
helysarsa &t74-7 45
[jaretgiene =
Daiermeiz B L ..v-‘J /
A74-22 27 S
T oimssadiu %

7 | (-9 538-52

rn. - “ ': -® -’\/\F oy |

BN ) | S L’-\' Bt \’ &74-62

N — : NI ESY '
[85]EA AR AR A \

Nolxiz s

{s0fotelg oy

¢ x
f/ .' 565_ 1 2l
11 3pFiam 2 =K P
¢ t=
(8312 BRUT N5$2RBAST

4]R=HE L BT

i3

(3-6) 539-42
—(3-5) 539-32
539-1¢!

> EpIEUELATD /
[86]%@5 68 [} P 4

[27]2@Q1Z 3} 1F [24]0191 22| S FEA A ME]

[25]2%TA

[26]8gE8

o 86-12¢
/ (3-7) 540-224
. ‘ & 86-11e 540-3¢l N
. \ 540-42]
'\~ ' & 86-42
\ |
1 '-\ 4 86-13¢ $:1/3,000
0’\‘ .\ 0 100 200 300m
w\---\ :
N \
~




